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Sigma Snake by Serkan Yurekli
Theme: Clue Symmetry and Logic

Rules: Add letters to some empty cells to make a snake that doesn’t touch itself, not
even diagonally. The snake’s head and tail are indicated by circles. The snake is
made out of spelled out numbers, and some letters are given that must be part of
the snake. Each numbered cell indicates the total sum of the distinct words that
touch that cell, including diagonally. Not all words need to be used, but no word is
used more than once.

Answer entry: Enter the length in © 7 Ow|T|7 1=0ONE
cells of each of the snake segments A E|V|I]| 2=TWO
from left to right for the marked rows, 9 9 F| 3=THREE
starting at the top. Separate each B NIEIT E|l 4=FOUR
row’s entry with a comma. The answer o2 ©O[4|H|R|E| 5=FIVE

to the example is “3,31”.

9 |(E) 1=0ONE

A 4 2=TWO
15 3=THREE
B h4 4=FOUR
11 3 5=FIVE
3] 6=s1x
20 7=SEVEN
C 3| (O 8=EIGHT
1 9=NINE




